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HEAEIZAZ—UTIAVIUTABIZHEALBRTEZIDIIEMINTOET (XOEKRIHHEED S VO ClzEEs
BB EDICEINTVS 2D, AAEE LTI HEINRERELDOEH Y £T) .
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Tom is three times as rich as Ken. AT VD3 EERD T,
Tom is about twice as rich as Mary. NAIE ATV DR 2 fEEFH 72,
Tom is only half as rich as Bob. l‘L\ii/‘ﬁj@f:')f:jz"ﬁiﬁ@%ﬁ%fio

AT VD 3FEOREDOEER > TS,

Tom has three times as much money as Ken. _ .
wgiFEas ~ asDEICERTG /Ny —,

NAFT VD 2f50E8OHEZE>TWS,

Tom has twice as many cars as Ken. B A s ~ asOBICHEIS — .

(1) OA7Y (Mary) IXELZOHKD 2 {50EE (5X) 72, @A 7 VIFMELDOEERO Y5 DERE, @A
TV ZDOMBED 35D 1 DEE, DA T VIFELDOMEED 350D 2 DEME, ©AT VIFELD
HDLMEDHE (=8BD&EX) 72,

=hW=old; (FH) dEW=tall,

® © ©® ©
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(2) Zo)ilx. dDND, 3fEEW,

=R\ =long,

(3) Zowx. oo, 2£EZEW0W,

wim=high ; 2 f&=twice (timeslXKRMEM) .

(4) ZOfEiE. HOED., FHoRI7E,

Ty Y
wiB=bridge ; &\ =long ; #¥=half,
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(14)

RFZEDEFIE. KBDJFEFD, 12658FH W,

= RFRDEF=an atom of carbon ; KFEDEF=an atom of hydrogen,
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(R fEEE 4

ZTOHBHEIZESTWDI AR, TOVaF I LT ALY, 458 <7<,
= BEREICFE D A=biker ; ¥ 3 ¥ U ¢ B A=jogger ; 17< =go,

ZhiE. BHEAE Y. 17BN,

e R K=boi ling water ; #\\=hot,

MO, YD 35D (BD) HE, AT 5.

=i $ %=have,

MAE. TVDORDELD U NERE RS TR,
w~ L h=only (ENFADRITHERA) .

A7Y (Mary) 121k, Yz (Jane) O, 312D (%XD) KEMNNS,

ww REH N B=have friends,

Bxlx, oM 2H508DANE, Ko,
wh=cattle (£GH&E) ; A=people (KEHFH) .

AP )
ZOWIEE. $CIT. AT LMD 3 FERMEL T 5.

FLA b hx
e B L T\ B=busy ; T Tli=already (beBEIFADKTHERA) ; 5§W%=;trba4it ; AT X5&sT=the Suez Canal,

ORI, BORD, 3F{EOEIS,

& NT2-12, ZE\\=heavy,

ZibRIE, FE O 245, KR oEY (S#NTwd)

w=NT2-12, #9=about ; 2 fZ=twice ; ~H BE\, BN TWB=far from ~,




SOE TR A RE S

(15) 2Rk, (—IEdD) T¥D, FRDRIX/L,

==NT2-12, KX\ =large ; 7 =eagle,

(16) FlE., FAOWHOD, 3EZEDELXDDVDEHE>T W5,

w=NT2-12,

(17) BOROELEIZ, FAOEDD, 2ZDKI X7,

=NT2-12, 2 f&=twice,

(18) ZoEwix. HOX>0D, 4fE0EXF,

w=NT2-12, &\ =high ; ¥ D=one,

(19) Y ay¥ (John) I&x. 75K (Mr. Brown) O, MHD4ER (=HX) 2,

=NT2-12,

(20) FAlE, ZOMHEEED D, 350D 1 DEIZ,

w=NT2-12, HHIZEEXY =sumo wrestler ; &\ =heavy,

21) FuiF. YA (Jim) D 2£50Z 3 DA%, FoTW\a,

w=NT2-12, 2 f&=twice,

(22) ThiF, B=HDRD, 3 0OFFLLEORES I/,

wNT2-12, <EOLLE=more than <# ; KX\ =large,

(23) B=bidk, WD 250 (23 D) BOEEWIH, TE2,

wNT2-12, EEE (D) . WDE (D) =usual ; E¥=sightseeing (FAE) ; %\ =much,

(24) OFIF. Yy H—LHERK CHOREVHFITIN»? QRIZEERD 1 0EY Y A—0F 7,

w&PG3-6, ~H L YFES=like ~ more (/better) ; ~HETEHIFE=like ~ much,
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(30)
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QERAL LKA, EoBREYENT?  OEARAMILIRAD 3 fEFEN,

w=PG3-6, DidwhichZFEEEICL TEEH L, EfRkH=summer vacation,
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ORITHTITK DLBHTL T, b HAE ) BEASPPY ET2?  ORIFHTTL 2 L IXBHTFT
QT2 fEpmE (RFIIEBATE L)

wwPG3-6, Didwhich%EFEICL TEXH L., @IFEEFA (~ing) HEFE, L DEDHH B=cost much (moneyldRfEH) ; 2fZ=twice ; RITH
T47< =90 by plane,

@

@

ZIANATRDZOLHEETE T, E¥5560° (D) LOES»H)FEFTH? QHIEETIZ
NEDZLIE, NANELZEDERZIT UL, ) FXRA (EEICIZEAHAZER)

wPG3-6, DidwhichxEFEICLTEEIHL. QIEBAEFA (~ing) N EFE, ¥H=half ; BEERDHAD D B=take <BERED ; K HH B=take long; ~
7213 Udv=only (halfDEITER) ; T I A% B=come here,

@

@

ATZVIENLD 25D DER%EFK>TW\WB,
=PG3-6, 2fE=tO0000% A (two timesidF M) . as ~ asiCRFALHLE,

Mary

74k (Phil) | Y¥ w2y (Jack) OESOFBI LD, VvV T TERY,

w=PG3-6, ~ L M=only ; ¥+ > TF B=jump,

Phil

ANEIOK TREDEBD (=23D) eV INN5,

wPG3-6, TFIEMESC (There are ~) , M~=a0d0O0OO ~ ; &Y Y=sheep (BERAF) ; %\ =many,
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(DMary is twice as old as her sister
@Mary is half as old as her mother
®Mary is one third as old as her grandma.
@Mary is two thirds as old as her aunt.
®Mary is 1.3 times as tall as her sister.

This river is three times as long as that river (/that one).
This mountain is twice as high as that mountain (/that one).
This bridge is half as long as that bridge (/that one).

An atom of carbon is 12 times as heavy as an atom of hydrogen.
The biker goes four times as fast as the jogger

[t is seventeen times as hot as boiling water.

Tom has (/owns) three times as many cars as Ken.

Tom only has half as much (money) as Ken (has).

Mary has three times as many friends as Jane.

We have about twice (/two times) as many people as cattle.
The strait is already three times as busy as the Suez Canal.
My dog is three times as heavy as your dog.

Nagoya is about twice as far from Tokyo as Shizuoka.

This bird is half as large as an eagle.

I have three times as many DVDs as my brother (does).

My brother’s room is twice as large as mine.

This building is four times as high as that one.

John is half as old as Mr. Brown.

[ am one third as heavy as the sumo wrestler

[ have twice as many books as Jim.

[t is more than thirty times as large as our house.

We can do twice as much sightseeing tomorrow as usual.

@ Which do you like more, soccer or baseball?
@1 like soccer ten times as much as baseball.

(MWhich is longer, summer vacation or spring vacation?
@Summer vacation is three time as long as spring vacation.

(Which costs more, going by plane or by train.
@Going by plane costs twice as much as going by train.

(Which takes longer, coming here by bus or by bike.

@Coming here by bike takes only half as long as coming by bus.

Mary has twice as many books as Tom (does).
Phil can jump only half as high as Jack.
There are about seven times as many sheep as people.
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